Acceptance Check

Hanjie Liu
01/24/2019



Purpose:
Prove that the acceptance function 1s the same for different gas targets, so it can
be canceled 1n ratio.

Method:
1. Yield < ACCxo > ACCoe«<Yield/o

2. ACC for one target could be gotten by plotting (x, Q2) or (v,0) distribution,
then divided each bin by the its radiative cross section. (use Bodel model)
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3. Divide D2 acceptance function by H1
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acceptance function:
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Conclusions:

1. The acceptance distribution looks reasonable;
2. The acceptance distribution between two targets are almost the same;
3. Maybe we should cut the edge events to get r1d of poor acceptance.



